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1. WoOEFIOMERD L. ( SH30#, A1, B#k149 308, C#243 308 )

(1) 142434445 (2) 446+84+10+12+ 14

(3)  9414+19+24+29+ 34 (4) 18 + 25+ 32 + 39 4+ 46 + 53 + 60 + 67
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2. ROBHNOHZERD X, ( SHh25F, Afh14r, BFk1230%, C#k24 308 )

(1) 142+3+4 (2)  143454+7+94+11

(3)  8+414+20+ 26+ 32 (4)  19426+33+40+47+54+61 + 68
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Rt A b BAE FEHRHOM EE 01 FEREER
1. WoOEFIOMERD L. ( SH30#, A1, B#k149 308, C#243 308 )

* FEHINDH = (RO + HEDOE) x EH + 2

WEBEOHEBOARLPUTVWE I EE2EZITHEID.

(1) 142434445 (2) 446+84+10+12+ 14
U 5 1 EESEERE
HEX=01+5)x5+2 EX=04+14) x6+2
=15 =54
(3) 9+14+19+24+29+34 (4) 18425432+ 39 + 46 + 53 + 60 + 67
flE%0% 6 1 fEZ0E 8 {i#
HEAX=(9434) x6+2 HA = (18+67) x 8§ +2
— 129 = 340
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2. ROBHNOHZERD X, ( SHh25F, Afh14r, BFk1230%, C#k24 308 )

(1) 142+3+4 (2)  143454+7+94+11
fEHB0E 4 0L 6 11
EX=014+4)x4+2 EX=01+11)x6+2
=10 =36
(3)  8+414+20+ 26+ 32 (4) 19426 +33+40+47 + 54 + 61 + 68
%L 5 11 fE%0E 8 1
HEAX=(8+432)x5+2 HA = (19+68) x 8§ +2
=100 = 348
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